Answer Key
Testname: CIRCUIT FINAL PRACTICE

1) 0.80 kWh

2) decrease to one-half its original value.

3)150V

4) 50 Q

5)8.0V

6) 0.20 A

7) 0.72M]

8) double.

9) the potential difference across each is the same.
10) quadruple.
11)5.0C
12) 12V
13) 80 Q
14) 25V
15) 0.50 A
16) 144 Q
17) 7.3 A
18) 1 V-A
19) 1.25 A
20)4 A
21) (voltage)/(current).
22) 0.90 A
23)1.2A
24)28 A
25) 392 Q
26) 0.0077 A
27)19V
28) 56 V
29)53 W
30) 0.21 pA
31)5.0Q
32) an ampere.

33) 0.83 A

34) 0.40 A

35) 0.20 A

36) 11 A

37) 0.48 kQ

38)4V

39)200Q

40) 0.10 A

41) 12 A

42)2.2 A

43)0.53 A

44) 42V

45) 78.6 Q)

46) current.

47)2.0 A

48) 0.013 A

49) all of the given answers
50) positive charges would flow.
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51)
52)
53) quadruple.
54) 0.055 A

55) 11 M]

56) the current flowing in each is the same.
57)18Q

58) 250 W

59) all of the given answers

60) 11 A

61) 1320V

62) 3.7 A

63) 220 W

64) 4.0 Q

65) 96 Q)

66) 1.4 A

0.59 A
Increases.



